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Assoziativgesetz (mit fehlender Zahl)

Name:

Findeden Wert von n.

1) (107)*4=10°(n-4)
A.0

3)

5) 10e(2en)=(10+2)+9

2) (4¢7)+0=ne+(7+0)
A. 4

00w
oo O~

4) ne(5+2)=(9+5).2
2

10
9
2

O0OW>X>»>S

6) 10+(5+6)=(n+5)+6

Antworten

A.10 A.10 ;

B.9 B.6

C.3 C.5

D. 10 D.0 8

9.

7) (N+5)+3=9+(5+3) 8) (n+7)e3=6+(7¢3)

A.2 A7

B.3 B.3 10.

C.9 C.6

D.5 D.5 11.
9) 5e(7+2)=(5n)e«2 10) 2¢(3+9)=(n+3)+9 12

A7 A.5

B.2 B.2 13.

C.10 C.9

D.5 D.3 14
11) (6en)e1=6+(8+1) 12) (10+1)+n=10+(1-7)

A.8 A7

B.6 B. 10

C.6 C.10

D.4 D.4
13) 9+(10+8)=(9+n)+8 14) (9en)*6=9+(7+6)

A.9 A.9

B. 10 B.2

C.2 C.9

D.8 D.7
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Assoziativgesetz (mit fehlender Zahl)

Name:

L dsungsschltissel

Findeden Wert von n. Antworten
1) (107)*4=10¢(n+4) 2) (4+7)e0=n+(7+0) D
A.0 A. 4 . _Z
B. 10 B.7
C.4 C.0 2. A
D.7 D.8
3. D
3) 5e(47)=(5+4)en 4) ne(5¢2)=(9+5)e2
A. 4 A.2 s, C
B.8 B. 10
C.4 C.9 : B
D.7 D.2
6. A
5) 10e(2en)=(10+2)*9 6) 10+(5+6)=(n+5)+6
A.10 A.10 . C
B.9 B.6
C.3 C.5
D. 10 D.0 8 C
9. A
7) (N*5)+3=9+(5¢3) 8) (n+7)e3=6+(7¢3)
A.2 A.7 B
B.3 B.3 10.
C.9 C.6
D.5 D.5 1. A
12. A
9) 5+(72)=(5+n)*2 10) 2+(3+9)=(n+3)*9
A.7 A.5
B.2 B.2 13 B
C.10 C.9
D.5 D.3 1 D
11) (6en)e1=6+(8+1) 12) (10+1)+n=10+(1-7)
A.8 A.7
B.6 B. 10
C.6 C.10
D.4 D.4
13) 9+(108)=(9+n)*8 14) (9en)*6=9+(7+6)
A.9 A.9
B. 10 B.2
C.2 C.9
D.8 D.7
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